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Question 54
 

Solve the following equation algebraically over the interval [0. 2a].

6sin”@+sind-1=0
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Question 32
 

Solve cos?6=0.where GER.

A6 =

ma = oe

on 43

Solve sec 9+ 2 = 0 over the interval [0. 2x].

S0Ce = > 2

Cose = —1
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Question 5 : 3 marks 

Solve the following equation algebraically over the interval 0 < O< 21

2cos? 4+9cos9—5=0

(ecesa st \Cwse + s) =9O
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Question 24 3 marks
 

Solve the following equation over the interval [o. 2n| :

3sin? @—10sin@—8 =0
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sive= 4 (<= ea
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4 marks

Solve the following equation algebraically for @. where 0 < @ < 2:

2cos2@=1
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Question 19 1 mark

O=~+2nk
Identify the equation that has a general solution of wherek EZ.
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Question 33
 

Describe the error that was made when solving the following equation:

sin? @+sin@—2=1
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Sin? 8 + SinG2 2
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Question 3 #F 3 marks
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Solve the following equation over the interval [o. 2n]| :

© sin’ 0+ 6sin@—2=0
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Question 5
 

Solve (2sin @—1)(sin@+1)=0 where GeR.
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Question2 4 marks
 

Solve tan? @—Stan@+4=0 where OER.

tange-A=o inne \ =)
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Question 4a a) 1 mark b) 2 marks
 

Talla incorrectly solved the following trigonometric equation:

Solve: 2secx —5 = 0; 0 <x< 360.

Talla’s work:

£580 ¥ —-5 = O

Ab solution, sec x Cannot be greater than I~

She mis keleny Ans ant Ched.
a). Explain her error.
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b) Determine the correct solution. | sec «| Zz \
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Question 22 2 marks

athe following equation over the interval [0, 2n). a Aanec —\. 4 tare

el

tan? @ + 2.8tan0+1.96 =0 Oca ikon ECS) pe

pany — a4 5. Se
Use the quadratic formula x =see for ax? +bxt+c=0. oc 0-
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Question 25
 

y : £6
The general solution to the equation cos @= —— is:

cad

6 =~ +42nk

where k €I

0-92 + Ink
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where k € 1
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Question 32
 

: : : qr. :
Given the equation 2 sin? @—3sin+1=0. verify that @= a is a solution.
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Question 39 1 mark
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Question 40 ARnwn 0S = 1 mark

Explain why the equation sec 0 = ; has no solution.

The graph of y = sin 2x is sketched below.

——>
Explain howto use this graph to solve the equation sin 2x = * over the interval [0, 2n].
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Question 24 3 marks

Solve the following equation overthe interval 0 < @ < 2n.

(tan @-3)(tan@+1)=0

Aan = > Lane
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Question 2a 4 marks
 

Solve the equation esc? @ + 3csc@ — 4 = 0 over theinterval [0, 2x]. A oe(

Express your answers as exact valuesor correct to 3 decimal places. 6 q Sth

Cese *4) (csee-v) 0 a usec 03

CSCe = cxeo =} [a=as,bore
sive= —-=

Question 21 ( _— omeoo2rmark

Which ofthe following represents the general solution to the equation tan@ = —1?

a) =" + 2kn, kel

b) = 7 + kn, kel

c) g=4 2kn. kel

@=F+ kr, kel
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Question 1|

Gina correctly started to answerthe followingquestion. Complete her solution.

 

Question: Solve the following equation for all real values of @.
Express your answer in radians correct to 3 decimal places.

3sin? @—-14sind—5=0

Gina's solution: 3sin? @-14sin@-5 =0
(3sin 0+ 1)(sin@-5)=0

Stne ee

Oc = sih(4)

So = oeee
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